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N kgf J kW - h kgf - m keal
71 1 0.102 T = 1 2.78x10°7 0.102 2.39x10*
9.8 1 IRILF— 3.60x10°8 1 3.67%x10° 860
E = 9.8 2.72x10°8 1 2.34x10°3
N-m kgf - m 4.19%103 1.16%103 427 1
’Eij:)yl\ 1 0.102
9.8 1 kw kegf - m/s HP (UK) kcal/s
Tt =X 1 102 1.34 0.239
(T &) 9.8x103 1 1.32X%102 2.34x%108
@ ) 0.746 76.1 1 0.178
4.19 427 5.61 1
kB J/(k? 0 kc: Vs,(gﬁo?) 1W=1J/s
o : . = -3
4 19%710° : Tkgf-m/s=9.8X103kW
Pa kPa MPa bar mbar kgf/cm? mH:0 mmH-:20 mmHg
1 1x10-3 1X10-8 1X10-5 1X10-2 1.02%10°% | 1.02x10* 0.102 7.5%10°3
10 1x10-2 1X10-° 1x10-4 0.1 1.02x10°4 | 1.02X10°3 1.02 7.5%102
100 0.1 1x10-4 1x10-3 1 1.02x10-% | 1.02%10? 10.2 0.75
1X108 1 1x10-3 1X10-2 10 1.02x102 0.102 102 7.5
E 1X104 10 1x10-2 0.1 100 0.102 1.02 1.02%10°3 75
a) 1x10° 100 0.1 1 1000 1.02 10.2 1.02x104 750
1X108 1x10° 1 10 1x104 10.2 102 1.02x10° 7.5%10°
9.8 9.8x%10°3 9.8x10°¢ 9.8x%10°% 9.8x%102 1X10-4 1x10-8 1 7.36%10°2
9.8x%103 9.8 9.8x10°3 0.098 98 0.1 1 1000 73.6
9.8x10* 98 9.8x102 0.98 980 1 10 1x104 736
133 0.133 1.33%x10-* | 1.33%x10-° 1.33 1.36%10-% | 1.36%10? 13.6 1
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